State of Aadhaar Survey Questionnaire 2017-18: Telugu
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mobile (required)

aadhaar_fm (required)

aadhaarerror_fm (required)

errorquestions

aadhaaret_fm (required)

aadhaaret_fm_other (required)

errorname (required)

errorname_other

erroraddress (required)

erroraddressother (required)

errordob (required)
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Specify other.
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Question relevant when: selected( ${aadhaaret_fm},3)
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errordobother (required) B8, BABSTR® S 0S0E™

Question relevant when: selected( ${errordob} , 98)
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errorwhy_other Specify other.
Question relevant when: selected(${errorwhy}, ‘other’)
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Question relevant when: ${correction} = 1 0 5%
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aadhaar_paymentetrs (required) 8. Jod 5~ 0 ouseT ¥ 557 $%0E° ?
(5=0°aDE/HET ) 070 @080 - 999 55775 57D T AVOE?) (DD G I I TS BE I ST ES 0™ @oes™ 99 ST
S=anavos?)
Question relevant when: ${aadhaar_paymentet} = 1
Response constrained to: .>0 or .=-999
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voteridcard_other Specify other.
Question relevant when: selected(${voteridcard}, ‘other’)
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Question relevant when: ${age} >17 and ${voteridcard} =1

vidverify (required) 11, 25T OB 60T K K8 SAHSTR° Se D8 A0 ABTETE 57585 LeadT 0% 0™ &5T NS 070 e® S5 1 %8
S5 08 0 |5~
Question relevant when: ${voteridcard} = 1 99 HHETII gt 5EmSE
Repilegehinlel
other Other
vidverify_other Specify other.
Question relevant when: selected(${vidverify}, ‘other’)
voterid_errors (required) 12, 5% .08 0 557 o™ D325~ BT oo e &35S an™? 1 o8
Question relevant when: ${voteridcard} = 1 0 5™
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vid_et (required)

vid_et_other (required)

vid_erectifytry (required)

vid_erectifysuccess (required)

noaadhaar_quest

noaadhaar_try (required)

noaadhaar_try_other

noaadhaar_why (required)

13 5% 608 088 5T oo™ D ST S 357 35/0™50 5050067 [$57 8705 03T %" JoEos’]

Question relevant when: ${voterid_errors} = 1

388, SAHT TR $°98°0F0E™
Question relevant when: selected( ${vid_et} , 98)
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Question relevant when: ${voterid_errors} = 1
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Question relevant when: ${vid_erectifytry} = 1

$°857K0 2 S5
Question relevant when: ${aadhaar_fm} = 0
16. 5°6> e365F 5765 &> 308G 5T 5ansT Sos~5~?

Question relevant when: ${aadhaar_fm} = 0

Specify other.
Question relevant when: selected(${noaadhaar _try}, ‘'other’)
17. %5 e36587 5757 > dot5r% 3 "ose En " =57

Question relevant when: ${noaadhaar _try} = 1
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noaadhaar_why_other

noaadhaar_when (required)

noaadhaar_whynotry (required)

noaadhaar_whynotry_other

Group relevant when: ${consent} = 1

aadhaar_etfixease (required)

adetprocessease (required)

Specify other.

Question relevant when: selected(${noaadhaar_why}, ‘other’)

18. 5% 36587 55T o ETEE BT 0085 SEp0T B $ 0T $™E?

Question relevant when: ${noaadhaar_try} = 2

19. 5°6> e36576T 5765 %> 308 085 Do S5 S "o S%s?

Question relevant when: ${noaadhaar _try} = 0

Specify other.

Question relevant when: selected(${noaadhaar_whynotry}, ‘other’)
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Question relevant when: ${correction_fm1} = 1
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Question relevant when: ${aadhaar_etfixease} < 3
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adetprocessease_other

adetprocessdifficulty (required)

adetprocessdifficulty_other

noadrectifywhy (required)

noadrectifywhy_other

noadsuccessrectifywhy (required)

Specify other.
Question relevant when: selected(${adetprocessease}, ‘other’)
22, 57557500 ob 5T E D gKo 5076 355558 S TanESE 595 eodSoK™ &sT8E?

Question relevant when: ${aadhaar_etfixease} > 3

Specify other.

Question relevant when: selected(${adetprocessdifficulty}, ‘other)
23, 35558 70T 308 0T 5% 9° e356T 5757 o™ 35T 100805 ™8T S 955 CanE S $T 5ansT Sose %
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Question relevant when: ${aadhaar_rectifytry_fm1} = 0

Specify other.

Question relevant when: selected(${noadrectifywhy}, ‘other’)
24, 35558 50T 508 0T 5% 2° e35=5T 55T o™ 81T 0080 58T S $8°S S anE =SS 5T 5ansT S o~
5~5° 0965° $°abSo80 508 0 55T ETST 55! 578 Jose 857180 ™8T S $PEabsosok™ B
SEape 8RS Pan ™82,

Question relevant when: ${correction_fm1} = 0
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noadsuccessrectifywhy_other

address

districts (required)

mandal (required)

ac (required)

village (required)

ps (required)

housenumber (required)

mobile_numresp (required)

mobile_num (required)

mobile_who

religion (required)

religion_other

category (required)

Specify other.
Question relevant when: selected(${noadsuccessrectifywhyj, ‘other’)
25. 8+ $82020 AbETE S EHI ™™

2’0 o

DOLO
(5™ aDS/MHET ) ™5 @oes™ - 999 357 $=apT avos?)
B=0n" 0 $an ™ eEssT Ko

KT 5505 (870 anSa/HsT 8 076 woes™: - 999 S35 S0 avods’)
(S™0°a0eS/05 ) 0765 @0es™ - 999 357 S anT avos?)
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(S5 ™0 QOS/OST > 07 e0es™ - 999 S5 57w avods?)
SB35 (ST ANBIIOET 8y 055 ©0es™: - 999 3575 $TAT avos?’)
(5™ a0/ ™5 @oes™ - 999 357 $=apT avos?)
26. 355 35° A TETE BT 0% $TonsT 80 BoSE Ko ™? ($ 0 Ay HET 8 o8 wots™: - 999 3357
SPAnT avo’)
(5™ °aDS/MHST ) 0™ @oes™ - 999 357 $=apT avos?)
Question relevant when: ${mobile_fm1} = 1
Response constrained to: string-length(.)=10 or -999
27. 5% 2° 338 Hessow Du5T AT’ ATETE HTRZeT S0t w8 Hoss " Kes™?
Question relevant when: ${mobile_hh} >=1 and ( ${mobile_numresp} =-999 or ${mobile_fm1} = 0)
Response constrained to: string-length(.)=10 or -999
28. &+ " 0" $TonsT 255°6%?
Question relevant when: ${mobile_numj} >0
29. 5T 8E™S 8T 508 T0esT A TETE 30 D°es"? (S0 anS/KoST 8 0 @oes™: - 999 S5 $TahT avods?)

Specify other.
Question relevant when: selected(${religion}, ‘other’)

30. 575578 570 9 r0E "0 anTETE Srw0 Des®?

RISEERAS
99 DTG S 35T $E™SE’
S°ETES 088
-999 | $™e°AbE ST S0
other Other

1 Srikakulam

2 West Godavari
3 Krishna

4 Nellore

5 Kadapa

6 Anantapur

N

Tekkali
Amadalavalasa
Narasannapeta
Nidadavole
Achanta

Undi

Pamarru (SC)
Mylavaram
Nandigama (SC)

© © N o a A w0 N

-
o

Sarvepalli

-
o

Venkatagiri

12 Udayagiri

13 Kodur (SC)

14 Rayachoti

15 Kamalapuram
16 Madakasira (SC)
17 Penukonda

18 Puttaparthi

1 5%
20005 0%
2T
5T
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other Other
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99 DTG 35T 5ETSE
SEES 0N

-999 335/B 0 0Ny
(9755 ™50e°)

other Other

category_other Specify other.
Question relevant when: selected(${category}, ‘other’)
aadhaar_quest SR 2 35075
Question relevant when: ${aadhaar_fm1} = 1
save_reminder_11 SAnSE° 9% 2208 3755 S0 3755 0™ 308 P50 & 15T S Sanods’.
aadhaar_when 31. %6 e 550 257 B¢k 37 $ 0087 $™6?

Question relevant when: ${aadhaar_fm1} = 1

aadhaar_mm (required) 3o

-

January
Question relevant when: ${aadhaar_fm1} = 1 February
March
April
May
June
July
August

© ©® N o o b~ W N

September

o

October
11 November
12 December
-999 &~ ansa/iHsT Bre
aadhaar_yy (required) Pos8T S0 2009 2009
Question relevant when: ${aadhaar fm1} = 1 2010 2010
2011 2011
2012 2012
2013 2013
2014 2014
2015 2015
2016 2016
2017 2017
4999 $” e ane/ivsT Bre s
aadhaar_camp (required) 32, %5 e55~5% #2°500™ 5° 365755 §0 30755 S H0%sT s~~? 1 s
Question relevant when: ${aadhaar_fm1} = 1 0 5%

99 HRTETNR gt 9ETNE

S°ETES 058
-999 $”e’ahe
ad_enid (required) 33. 355 @565 555 6 E00 S8p0T 85 ST°E8T 908, 37 S 1067 $%0w 387 5o dos™ __ 2[esT %% 1 NREGA 2~ 5757 &
2AH%"E IS SD°0S0E°. 55705 98T $70e0%S AT 808 0% 558ST 55T %
(555055 2AD 0% 3557 55575050857, SET 0™ @955 %060 IS 05 F0is?) 54585 0&°
Question relevant when: ${aadhaar_fm1} = 1 - -
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ETE2 50T o usTRT

ST 5T s
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$r0e° 87 B850
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10 3™ 565565 9 S92

K87 8°0% 075

ad_enid_other (required) S8, BOHITR® S°9E°0S0™
Question relevant when: selected( ${ad_enid} , 98)

aadhaar_why (required) 34. 55 w57 57565 6T Do B ToE™S? 1 docsoes™ vos~ans’ /
Question relevant when: ${aadhaar_fm1} = 1 3585 | 9T 88085 S

3T 05T e 3% SE s’
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2 dot¥oes™ 2578 et ab
9253558 5% 8505 0Hs°
S7ST5%0°

3 57550 97508 S 975 (02)
SO g8 ST wSvs0
(&5~ 5703 o, LPG
5~an’s’, MNREGA 57850,
97T R8T o)

4 55 o apo% pmET
B85S SIM 555 ¢ /
388 975 | 87987 8°S°
S T0EETSE S 5d80.

5 | dotsrsoes™ 5 5° 2,57 K8
58T D088 5™
[87 8°0%5 8% 8o ¥F 58]

6 38° 28 K57 8°0%s H&° SoK™
&5A0 K 0SE ™SS 20850;
e85 9T E8°S e
oK S 080 $0E8°.

7 375 2.8 08T 8°0% 987 5o
50°K° 97505 [386 /
3558 78]

8 3758 an™s 5580 0%

98 38y, SABS TR ST ETS0E’
99 DTSR 39T 9GNS

3°B8ES 0S8
aadhaar_why_other (required) B, BOHITR’ SPHE°0S0E™
Question relevant when: selected( ${aadhaar_why}, 98)
ad_pay (required) 35. 5% es¢5™8T 55T o S50 S0 5785 8 abe ™ ASEERS™ o w ST 0%os™s™ ? 1 %08
Question relevant when: ${aadhaar_fm1} = 1 0 5%

99 BTN geT SETSE’

SEEB°0S™E
-999 $”e ahen
ad_paywho (required) 36. 35°5> 235°8° G w ST 0°05™5? 1 a8 K55~ vow—ans’
- 05T abac

Question relevant when: ${ad_pay} = 1 2 5T TNT T et

$508° A58 2,58
3 BTN 58T $08°
587 2,585
4 2 ah™o% $r08° ST
2,585
5 3370 §%05% So S0’
5878 2,585
6 255" ap 557 S
7 Seanon $3T avacs /
2208503500
8 ¥TSTrBes
-999 | $™e°AHE/ ST S0
other Other

ad_paywho_other Specify other.
Question relevant when: selected(${ad_paywho}, ‘other’)
ad_payrs (required) 37. 2787 80 5°5, 2° @567 5757 & 305 555 Jod S0 00587 ($e A @oss™ -999 357
SPAnT avo?)

(5™ QOS/OSTE 07 e0es™ - 999 S5 7w avos?)
Question relevant when: ${ad_pay} = 1

Response constrained to: .>0 or .=-999

ad_freeaware (required) 38. a2’ 8T KSST H5™0 BT 5550, ISSZS e 8T §75 6 5700 S ST0ESG0 &850, $1 505 850 1 @38
050 57 Bens™? 0 5
Question relevant when: ${aadhaar_fm1} = 1 99 BTN gt 9SS’
355 0S8
ad_enease (required) 39. 8% S0 275, B° es5~5T 555 ¢ ¥ os™ 5T 85T 8%ab 5 Dod 355 Mmoo o 6™ 55T e0? (a7’ 1 S~ oo
DI TE IS0 35°3° 3°3°5°0505°) 2 oo
OIS DD G II0e) 5% 3% 0S0is” 3 Lo
Question relevant when: ${aadhaar_fm1} = 1
4 535 wo
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ad_overallease (required)

ad_overalleasewhy (required)

ad_overallease_other (required)

ad_overalldifficult (required)

ad_overalldifficult_other (required)

ad_addresssame (required)

ad_addresssame_other

ad_addressupdate (required)

ad_adupdatewhynotry (required)

40. 2585 B0 2°65, 2.8 e35~5T 557 ¢ 50K dodio ©37E° 2° &5 ST $H8%08 MeBso $%0E™ 08 H5%0s
S35 L0880 S 50°05™? (957 3% DTS IS $E75° $5°5%5°050E7)
S5 BT S5 5% oS0s®

Question relevant when: ${aadhaar_fm1} = 1

41, 25 es—57 5755 & 50K oo B afS S ST N Jom Brogso $0°%0s8™?

Question relevant when: ${ad_overallease} <3

S8, BOHITR® S°9E°0S0E™
Question relevant when: selected( ${ad_overalleasewhy}, 98)

42, 2% es55—8% 557 & 50K dodo 2° et E=3T R Do~ 535 st $%%0s?

Question relevant when: ${ad_overallease} >3 and ${ad_overallease} <6

B8, BABSTR® ST 00K
Question relevant when: selected( ${ad_overalldifficult} , 98)
43, 5°53 3° e365m8T 757 e 57 6373 S35 57685 8o 378 S5 2.8 eSS

Question relevant when: ${aadhaar_fm1} = 1

Specify other.
Question relevant when: selected(${ad_addresssame}, 'other’)
44, 5% 5° 526255075 2° 3T BT B8 S~ SIS OWE TGS 3T 5aAnsT Sou~5~?

Question relevant when: ${ad_addresssame} = 0

45. $5%5) 35° $°5o5=5078 o 35°58% 050 EesT 66T 3 0s% ¥ 5ansT S0 %?

Question relevant when: ${ad_addressupdate} = 0

5 | $me~ 585 eoo

99 BT I 7T 9GS

SE™ES 0S™Es

Keas’abon™ Brogsso

2 DePsso

3 o0fsso §7% 0 5™ HS%0d

855 o850 578> 1D 5T
Eaet)

DETHI 535 easS0
Keas’avon— 535 Lss0

99 DTSN 7T 9GNS

SEEE 0S8

3E° S SETHS KHET S0
385 508 85575 08—
©3908%0T B0 - a8

ST 58S o
&5a0" K 0sSST S0,
30%5065 5 %T 5’580
O ST ASET
3e2°05%08™ 50T Br08°
5858 E8R0K™ S 8
5588 e | P850 |

ST BAL TS moN 3T KoK™
DTOSKONHBIST $8

55 388 S50 HTH58(3%0T
555 oo, 22 ado%

PSS ™), DIET B % Srxeven,
ST AHSR™AD Srer~ed

DB 35°) DToSKOS
Dotsrsoes™ ™% e &ocs®

§ope0% eo°

98 388, SAHS T’ $TETE TS0’

587 5 esesT $8T
0595 %08 38° 97T S
D500 ALOB ETSEHS808°
370 87 e 55T o
O3 $°R0H %
305 0N R’
&oeanods®

378 &7 370500858

3T 5370 550 050
880K §7 5TRST 0 /
SPES ™0 [ 57800 s Tes

S 080 S Pan 8

98 38y, SABS TR’ HTETE TS0’

1 @808
0 57

99 DT I 35T 5E™SE

SE™ES 0™

other Other

N ©

€935

57

5550 8™ e~ 55T o™

BB 08T 8IS %

3% 375 $7 A0S

1 57585 &7 S8 ™8°
3575805557 % 03 5™
SO°AHES
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2 55T s S°E°K° gnt $es°
378 5008 5¢s0 7%
3 et 55T R
o&T 88T S %~y 3555 D
37008 BT A /
327 2008° 5% 5
4 305 5T 55T %
%0 5755° dos~os®
58 5&0 0%
99 BHTETNR 3T 9B
S°ETES 088
-999  $7e°Ahey
other Other

ad_adupdatewhynotry_other Specify other.
Question relevant when: selected(${ad_adupdatewhynotry}, ‘'other’)

ad_adupdatesuccess (required) 46. 35° e3556% 55T 0™ S EITH ™S SBOBSOBOK™ S oS ™E~/e3T &S $EabKe S ~E~? 1 %
Question relevant when: ${ad_addressupdate} = 1 0 5%

-999 &To’anes
99 BTSN ST 9B
SE™EB°0S ™8
other Other
ad_adupdatesuccess_other Specify other.

Question relevant when: selected(${ad_adupdatesuccess}, ‘other’)

ad_adupdatewhynosuccess (required) 47. 35° $°63=57% 35%55%05%00™ $°6> o0& SmabSoso 50 %)? 1 57558 $5°55°0 55~ o8
Question relevant when: ${ad_adupdatesuccess} =0 52087 S0 3758
B3NS0 58 an

2 5N 35°88%0us S
©IVEDTS DS 5> 387
0%

3 S P08 S0 578 8™
V=SSN S’
35%58° 05 0lesT & et
ST @8 TN 98

4 3 RTEEST S
3% 056 S 03T 650
SITAT NG SE 5T B
SorF 23 PBT S ©9:5388085°

5 %5 5 %0 S Ga e
PETH @S08208° ©F°
3880 $308° 3
RINHNRSS

99 DTG TID 35T 5ESE°
SEES 0N

-999  $”e°aHe
other Other
ad_adupdatewhynosuccess_other Specify other.

Question relevant when: selected(${ad_adupdatewhynosuccess}, 'other’)

ad_mobile (required) 48. %> e 55T 2 E 00 5758 S S003T 35T 0 %6 e e 37T SowsT M wortos™E™? 1 s
Question relevant when: ${aadhaar_fm1} = 1 0 5%
-999 $ e a0y

99 HRTETN gt 9ETNE

S5 08
ad_mobilesame (required) 49. 5°5 ese5~T 58T 8 E500 33708 S H003T 85T 53¢ 3°63 005°05°S HTHT 0 7T SowsT S guT e’ 1 o5
EDAnTIRT BT 55 ™? 0 5=
Question relevant when: ${ad_mobile} = 1 2999 &= anhdss

99 BTN 3T SETNE

SPEES 058
ad_mobupdate (required) 50. 3%, ° 57557 838 2 TaZ0T 37T SowsT e™sT 8™ @00 N oSG S S 3T EansT o $E? 1 %8
Question relevant when: ${ad_mobilesame} = 0 0 57

2 375 8 esem8T §5T s™
Ho20do &3S m”m:eF
9755 80 8T 89S
@3° S~ $70 A0S
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ad_mobupdatewhynotry (required)  51. 55 5° 5220 3757 SontT 8 0% 35758 080 w0 & 6T $TanT ans=s 37 587 STose™%?

Question relevant when: ${ad_mobupdate} = 0

ad_mobupdatewhynotry_other Specify other.
Question relevant when: selected(${ad_mobupdatewhynotry}, ‘other’)
ad_mobupsuccess (required) 52. 5% es¢50T 557 8™ Ho2050 &57S HTBZeT HTNT SondT i $PBabIoson™ @37 e S aoKe’ K~E™?

Question relevant when: ${ad_mobupdate} = 1

ad_mobupsuccess_other Specify other.
Question relevant when: selected(${ad_mobupsuccess}, 'other’)

ad_mobupdwhynosuccess (required)  53. 55 5° 5 TaZeT $Tons" 55 Dot SEanI0BoR™ 53755 080 e 5 FesT ST ape s 5 =57

Question relevant when: ${ad_mobupsuccess} =0

ad_mobupdwhynosuccess_other Specify other.

Question relevant when: selected(${ad_mobupdwhynosuccess}, ‘other’)
aadhaar_updateease (required) 54, 55757 S0 576, 5° e85 55 ¢ A TETE H5™S ™80 (TR 0T S08°ak: [ 975 $° 68T T) & $5%58% 0o/
995 560" 0™ $°5™80 Jod B0F0 BTG EAT 008 ™ &7 $85°? (0957 & DTN $E°S° $5°5°0°080°)
TS DD G IS0 SE°S° 5% oS0’
Question relevant when: ${ad_adupdatesuccess} = 1 or ${ad_mobupsuccess} =1

updateprocessease (required) 55. %5 555 5% o ETE D g~Ko 5°5 35°558 $TanE—s’E’ mrogsson— &3° $6°?

Question relevant when: ${aadhaar_updateease} < 3

99

-999

other

99

-999

other

99

-999

other

S 8™ TR0 TS
35°55°05355 Solent & 5w
SAHT ansST o $T%
SO°AHES

3585 &7 58T o S°8°°
357 5~08° 68 sE0
0%

5 e85 0F ;‘D"“ef_e:F
P77 SowsT §F6 s e
3% domoss’ DT an /
325 2006° 5% 5¢5

378 65 8 55
%0 575° dos~os®
565 50 0
BTN T $ESE
S°ETES 088

SO°AHES

Other

€933

5%

BTS00 T $ESE
S°ETES 088

SO°AHES

Other

53T 3B oBE~SE 2.8
208 S0 3758
ST T8 Pan S
5 35580 sG—SE
©IVEDTS DS 5> 387
0%

3575 5005 S0 578 5
VRIS S
35%58°0scs0lesT &St
SEAHe T @8 TN 98
3™ BRI ST

33°58° 056 S s 650
SITAnT anESE 5T B3
Sor% 23 BT e9:5388085°
&%5° 5500 S SuT
PETH @S0808° ©F°
3880 $308° 37
RINMINESS

VTSN 9T 5SS
S°EES 088

ERCyeaty

Other

1 ™™ oo

doegio

83 wo

2
3 30" go
4
5

I 53 es0

99 DTSR 39T 9GNS

SE~EE 0S8

35758 | $35°55ea (00T
&7e0%) 5008 57T S
ROOZOK™ SRR TISST S
0700 B8R S 0SESE

©IDEDTS HST 5~
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updateprocessease_other

updateprocessdifficulty (required)

updateprocessdifficulty_other

ad_duplicate (required)

ad_duplicatesame (required)

vid_duplicate (required)

vid_duplicatesame (required)

ad_use (required)

Specify other.
Question relevant when: selected(${updateprocessease}, ‘other’)
56. 3% 557 5°aH A TETE D Ko 3% 355588 STane S 53T wason™ &57 56

Question relevant when: ${aadhaar_updateease} >3 and ${aadhaar_updateease} <6

Specify other.
Question relevant when: selected(${updateprocessdifficulty}, 'other’)
57. 5% 573 3556 557 thes &3T 5an’?

Question relevant when: ${aadhaar fm1} = 1

58. 560%™ @955 12 00570 e355™5% DopT b &0E™? (A5 58087 5RT ¥ o0& "0t 557 S ©5508° SE TS 578
ADTETE 2 5558 55T 6T 08 8578 ITR° 8T08%0°0 ™ 2.5 ST0nsT &xT 86 076 e Srtes se™8.)
Question relevant when: ${ad_duplicate} >1 and ${ad_duplicate} <4

59. 3% 578 8,087 & 55 Good &35 5~an*?

Question relevant when: ${voterid_fm1} = 1

60. 5% 2,57 S°Bo8m™ B A $°9ETOS) FO° &3 SE™? (A8 T8 ETOT D0k Toes" 98T S e80e°
SH0ETE 58 ATETE 2 208 56T 5T o) 857 S50° 508%™ 2.5 S50 &37 36— 078 ol
S35 T80 ™80.)

Question relevant when: ${vid_duplicate} > 1 and ${vid_duplicate} <4

61. 3% 3° e3655T 55T 53 ©0EHIT S BBI~S, 35> S5T S DS BoK~ EBAD N 0IE? (057§ BHE N300
35°5° 5755 00e%)
T DD G IS $IE°3° %% 0o’

Question relevant when: ${aadhaar_fm1} = 1

Qoo™
IS 0S8 IS8T S

3 337 §%05% 5o an™ET s
D 2o’ $~e™
VIOHESON™ &5 8

4 925" o 85T HIKT
&0e2508° ; 7% o™
VHaho 5’ sose 9%
©5HS0 0%

99 DTG 35T $5ESE°
S°ETES 088

other Other

1 3578 90es”

SR TSe0 835 ool
V0T Se™ SIS0
ENNNe

2 37555 oSvEnIS
987 570 %

3 5T oS08 987 50
D535°e0™ 5% S0 A

4 52705 §P0sT 5N
I”0s%S ¥ wocs®
D AnESOR™ 08

5 o3 $rem 5T HsK
&0e2508° ; 7% o™
VHaho 5S° SosTe’.

6 S ess™8T 55T S
35%55% 056 (%
&760%) 578 woso
357 3900° 337 $°%0s°

99 DT 35T 5ESE°
SEES 0N

other Other

1 53500 2.5e°

2 "ok

3 5 0% S0t ETHS

99 BN 3T S5ETNE’

S8 0S™8
1 e
0 5%

99 BTN gt SETNE
S°E=ES 088

-999 B~ A

1 55500 2.5°

2 "ok

3 | 570 Soes™ IETHS

99 HHTETIM ST 9GNS

$°5™E8° 0S8
1 oD
0 5™

99 HRTETII0 gt 9ENE
SEES 0N

-999 $~e’Ahe>

1 5™ e 557 o an™TETY
S3Ee(573°)% ©08°03°5~5>

2 3 e 58T a8
K57 B°0%5 EIHoK™
SITB°0S™E

3 57 g8 5T s ol

&eteon” avost Soo ™ §
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ad_use_other (required)

ad_fprintaware (required)

ad_irisaware (required)

ad_otpaware (required)

save_reminder_1

bank_section

Group relevant when: ${consent} = 1

bank (required)

bank_no (required)

pmjdy (required)

bank_year_single (required)

bank_year_multiple (required)

388, SAHT D $°98°0S0E”

Question relevant when: selected( ${ad_use} ,98)
62. ese5~5T 50°K° 6373 05T vEmeT 0™ % te™ avod” 5037 B’ 3T s S ST 0N eSsEo &3S’ Ss
0¥ 3820 Ko8°0° %0 S ers~?

Question relevant when: not(selected( ${ad_use} ,3))
63. es&5~5T 50°K° 6373 05T v o™ o™ abod” 5037 B’ o™ BTE=ST (Sows® BT EST)S a3 os™
©IE™H0 &3T S, e 05T %80 K570 0K B=erd™?

Question relevant when: not(selected( ${ad_use} ,4))

64, 555" 50K 657 S 08 9ermeT 0™ 8°5%0T eodT ITR0HSTS H TR0 SoasT 82 28 56T 0o’ 58S’
DA 0S™ @35 %0 &3 36°. Sr 05T D0 HE°0S° H STed™?

Question relevant when: not(selected( ${ad_use} ,5))

BB 555 50U BT 55T S0 58T 0™ 59908 P50 8 95T Sanods’.
Question relevant when: ${consent} = 1

ST SR 5T 5757 %0 60 6900 Ko ET8% es¢5T 2T a0 prdETes. S ab 8T $rosToesT
Question relevant when: ${consent} = 1

65. 5% & Ab™0% PH— &o&~?

66. 35575 5T o0 ab 05T pE ey ST SaN*?
(870 °a0e/ME ) 0765 ©0e0™ - 999 5575 5 AT AVOE?) <BI/><bI/>(3:0 =S5 5 TS T BE =S S EES 0™ @0t 99
557 ST avos?)
Question relevant when: ${bank} = 1
67. 3% PMIDY (35 55~3% 20087 5° 6555 an™ ms) p~&— sos—?

Question relevant when: ${bank} = 1

68. 3°%) 5° 2% AP0 PE ™ BT R HEFE?

Question relevant when: ${bank_no} =1 and ${bank_no} <99

69. 3% 380°50™ $76°5%3 5° 27 ABTOET PE N BT R STE I E?

Question relevant when: ${bank_no} >1 and ${bank_no} <99

98

99

99

99

5050067 6
RIS M et

5 es58T 58T 8™ o8
&aeoo” abost Soo ™ §
28°%0F TE5TS
&5an K oS8

5 358 56T o™
3370 SPabeE’s H e e
302855 H0%S I3 -e02 % -
50T 55565 &

RIS Yot

S 8T 58T o
308 89T Hes” $308° S8
FOSIEE &S’
&8an K ose

B, BAHS TR B TE TS0

93030

§e

DTS 33T 5SS
3°5ES 0S8

303

e

DTS 95T SEE°
IETES 0S8

[N

e

DTS 95T $5ESE°
SETES 0S8

303

50

DS 35T S5EE°
IEES 0SS

€930

¥

DTN ST SETSE
S°ETES 088

-999 & ahen

o g A W N

99

2.5 570 Soto™ 85705

s 5°s0

1-6 $7vo 57 5°%0

7-12 3”00 8 8°%0

1-3 %0387 50 5 880
4-6 H058"¥5™e 57 5°S0
6 5575 DTS
¥o38% v 55 5°B0
BTS00 9T 5SS
S°ETES 058

-999 $Te°AHE/ ST S0

2.5 870 Soeo™ $5THS
§¥5°s0

1-6 $7vo 57 5°%0
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7-12 ™00 §° 80
1-3 %038 5o 5 880
4-6 $038 w50 57 580

o g b~ W

6 5555 5T %Y
$038% v 57 5°B0
99 DRTETN gt 9ETNE
S°EES 058
-999  $™e°AHE ST S0
ad_bankopen_single (required) 70. $°5> 35° 25 a0 PE™ STEIE~SE e5—5T 55T ¢ ERan N oS ™5:? 1 %
Question relevant when: ${bank_no} =1 and ${bank_no} <99 0 5%

99 HTETII0 gt 95N’

SEES 0N
-999 & ANy
ad_bankopen_multiple (required) 71. 3% 30°30™ $7E°5%5 5° 2 AWT0ET BT STEIESE esS~5T 5 EBAL K oN™E~? 1 e
Question relevant when: ${bank_no} >1 and ${bank_no} <99 0 5%

99 DR gt 9ETSE
S°ETES 088
-999 $Te 0N
ad_bankopenhow (required) 72. 82 05° AD0% B $5 S TeonT 9360 5 55T 5 Jo= &3 K oN—E? 1 28 58T %00 a8 Sok™
Question relevant when: ${ad_bankopen_single} = 1 or ${ad_bankopen_multiple} =1 (5™, % Ad™o% g sE%s’
2.8 575°%5° 008’ 0N,
2% ap—osT e’ sEs®
58T 555 oo
SIR°0S 8 T B0 S.)
2 5™ e v ST
©9085°035° S SoB A 28
%2007 So%T abressie™
5™ 5’88
500N 0S5, w0ty
e g-ETI20°
-999 BT A/ ST S0
98 3By, BSOS’
SRTETS0°
99 DR gt 9ETNE

SEEB 0S8
ad_bankopenhow_other (required) 388, SAHT TR $°98°0S0E™
Question relevant when: selected( ${ad_bankopenhow} ,98)
bank_opentime_single (required) 73. S5 27 AHTOK PGB TN STESE ™SS o Daho Hest e5’os’? 118 %
Question relevant when: ${bank_no} =1 and ${bank_no} <99 2 235 mden
3 4-6 5 mws
4 7-10 5"
5 11-15 8 men
6 155 a0 537 5™ 28T K9

-999  $™e°AHE ST S0
bank_opentime_multiple (required) — 74. 555> 3e°S50 $8%5%S &F Ab—0% BT STEIE ™SS Jod HHALO BT £3°08°? 1 15 %
(5™ QOS/OST 07 e0es™ - 999 S5 7w avos?)
Question relevant when: ${bank_no} >1 and ${bank_no} <99

2-3 5 e
4-6 5 a0
7-10 5 %moes

11-15 5 %2005

a b W N

6 155 e 5575~ DETHS
-999 $Te°AHE ST S0

bankopen_ease_single (required) 75. 2787 80 5°5, 376> B3 0° AH~0o%H BT TE5E0 275 Jod 910850 075 53T £007? (057 S DS NI IE°S° 1 S~e= oo
3°8°%°0808%) 2 oo
o s oos s
@ 7 QDD I T I I W D 008 3 e‘éw?\urcﬁ,‘)o
Question relevant when: ${bank_no} =1 and ${bank_no} <99 -
4 537 wo
5 Smom 555 wo

99 DTSR 39T 9GNS

S5~ 0S8
bankopen_ease_multiple (required)  76. 555> a0 $5%5°S oF Aok ST $TESG0 Jod 10850 0 5™ 53T L0k~ &5T 857 (6375 HXESHo0 1 S~ oo
7% 37875 0808”) 2 oo
GO i ENTINENENTS 9
" 7 DD P TIa0e0 WG I W WK 0508 3 éwbgéo
Question relevant when: ${bank_no} >1 and ${bank_no} <99
4 535 wo
5 | $mo~ 885 eso
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bank_aadhaar_single (required)

bank_aadhaar_multiple (required)

verify (required)

bank_aadhaarwhy (required)

bank_aadhaarwhy_other (required)

bank_last3month (required)

dbt (required)

dbt_other

dbt_oneaccount (required)

dbt_oneaccount_seeded (required)

save_reminder_2

mobile_questionsn

77. S5 057 AH™0% p@—5 5° €555 SoasT BN oSS SES™ ?

Question relevant when: ${bank_no} =1 and ${bank_no} <99

78. 5% e555—8% SowsT TS 2F Ab~o%H PE™H %0 S SavwE’os®?
(S™0°aDS/MET ) 0™ @oes™ - 999 357 $=ap T avos?)

Question relevant when: ${bank_no} >1 and ${bank_no} <99

Response constrained to: .<= ${bank_no}
79. 5705 95050t $TN0™F *99*99#% 20 70T oo’
KIS ge5° $578° e85™8" SosT 578 2 AHTo% PTETE VOGN 0BG NG 975%™ e e e § %o,
5207 SIS S557S 2.8 DT 578 TNT H 597 $5085°. @08500™ 578° e SoasT 578 o7 Ao pTE ™
VOB S OSDE IE™ 0 5™ 3° SerN8108°. *99*99#

Question relevant when: ${bank_aadhaar_single} = 1 or ${bank_aadhaar_multiple} >0

80. 35° e355~5% 8™ 53 7 ABTOET PB™HH 0B BIBOF S 0STE?

Question relevant when: ${bank_aadhaar_single} = 1 or ${bank_aadhaar_multiple} >0

88, SABT TR $°98°0F0E™
Question relevant when: selected( ${bank_aadhaarwhy} ,98)
81. 3% K& 3 5”00 07555 geo’Se $TES%S Hs I EBAL K oN™E™?

Question relevant when: ${bank} = 1

82. NREGA 585~03, 3°657 a0—8% &° 37 5~087 223707, 575708 58°a0 LPG 27 $0t0° 05
555 Q05T 550~ 0, 5T 8587 30 586N~ oF Ao pE~e% Sat s 8%’ S abdo 3¥ 5500 0. °
$820020 BT EEHST S DEEO 32067 VST 3™ 1T 55T AT 0650 woHsT 5E?

Question relevant when: ${bank} = 1

Specify other.
Question relevant when: selected(${dbt}, ‘other’)

83. &3 55570 a7 e §T500 257 & AT PTETe T ST a7
Question relevant when: ${dbt} =1 and ${bank_no} > ${bank_aadhaar_multiple}

84. &5 7 AN—0%H P85 5° g5 SondT BNV oSnE IS~ ?

Question relevant when: ${dbt_oneaccount} =1

BB 085 K™ 5T 55 505 5767 0™ 500065 H80 5 ¥ S avods®.
Question relevant when: ${consent} = 1
368" A TETE 5T 5T 5T 5% 57 o enan ™o DT 9T 55T toes

Question relevant when: ${consent} = 1

Group relevant when: ${mobile_fm1} = 1 and ${consent} = 1

simcarrier (required)

85. 5° e 0% T anTET S 57T 56TE 95%e?

99 DTSR 39T SETSE

J°E~EE 0S8
1 o
0 5™

99 DRTETNR gt 9ETSE
S°EES 088
-999 $=e’andss

1 @38

0 =%

99 85°9°I5S 5 0sE =SS
SEES 0S8

4 33°9° S0 w0 855 %/
0700 ST B8 8.

1 do&rsoes™ aF ab~o% $57 8
@3RG N0 FITAHT AbdS’
STHTR08E°

2 55 525:8% S0 $08°
3T S P ms0 S oG o0
V0 IO 9350
et 0°

3 | 9300580 STan abEo
5050 & o AposT pmE—S
&30 N0 0PSB0
ST s00s°

98 38y, SALS TR’ HTETE TS0’
99 DT I ST 9GNS’

$°B8™E8° 0S8
1 o
0 57

99 DRGSR gt 9ETNE
S°ETES 058
-999 &7 N
1 eS8
0 5™
99 DTG 35T 5ESE°
SEES 0N
-999 $”e a0
other Other

1 X8

0 5%

99 BTN gt SETSE
355 0N

-999 B~e°ahed

1 e300

0 5%

99 HRTETN gt 9ESE
IEES oI

-999 $”e°0Hy

1 a0’ L=t
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simcarrier_other

generated_note_name_154

sim_mm (required)

sim_yy (required)

ad_mobilesim (required)

ad_mobilesimhow (required)

ad_mobilesimhow_other

ad_mobilesimtime (required)

Question relevant when: ${mobile_fm1} = 1

Specify other.
Question relevant when: selected(${simcarrier}, ‘other’)
86. 30%5 8¢ %07 ET ¢ 9T hachy D T0E™E?
Question relevant when: ${mobile_fm1} = 1
BRC]

Question relevant when: ${mobile_fm1} = 1

¥o58T S0

Question relevant when: ${mobile_fm1} = 1

87. 3% &5 SIM 5757 &7 35 308G 65T 5 &nan Ko ~E™?

Question relevant when: ${mobile_fm1} = 1

88, 355%5 B2 1757 55T o 905058 9T B 555 85 S’ SN SBOL K oS E?

Question relevant when: ${ad_mobilesim} = 1

Specify other.
Question relevant when: selected(${ad_mobilesimhow}, ‘other’)

89. &5 SIM 557 &% 35> a5 e°5 60T S AN o HAho HesT e°0e?

2 BoonsTRT efan™

3 57T

4 n&on™

5 2075 det
999 &= e’aned

other Other

January
February
March
April

May

June

July
August
September
October
November

December

-999 BT AHeE/MHST S0

1

2009 So0e5™ 505085

2009 2009
2010 2010
2011 2011
2012 2012
2013 2013
2014 2014
2015 2015
2016 2016
2017 2017

99

BT SI0 g3T SESE°
SEES 0S8

-999 870 AnEHNHST S0y

1
0
99

935855

ISl

PRS00 3T SN
I5ES 0N

-999 STe’ahes>

1

2

2.5 58T 5°0%> $8° SoK™
(&5, 2 Ab™o% e’ s™s’s’
25 5~05%° 00805,

2% av™osT wg’ss’s’
es¢58T 555 oo
SIR°0S™E T B0 S.)
37 38T DI IS
08505 ™8 S A 2.8
&%25°e00% SonT anreasro™
5= 5088
&30S8, woes™

e g-ETI2R°

-999  $”e°AHE/ ST S0

98

99

3B, SOHI T’
SPTETS0s°
VTSN 3T $E™SE
SE=ES 088

other Other
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mobile_aadhaar (required)

smsreadhh (required)

Group relevant when: ${consent} = 1

pds_questionsn

rationcard_hh (required)

rc_num

rc_listed

rc_note1

rc_note2

rctype (required)

rctype_other

rc_hhnum (required)

rc_adhhnum (required)

Question relevant when: ${mobile_fm1} = 1

90. 5° B0 7T 5° e SopT Ans ™ LMBoS TS oNE S ™?

Question relevant when: ${mobile_fm1} = 1

91. ° goes’e™ DSBS

H&T_&)F ;Dr—s

ST SMS 85 S350 $HE°AHy EAbE0 $AbKeS™?

3658 A TTETE BT 5T 5T -3 6570 6o &dan ™ Ro: 9°6EPRT

Question relevant when: ${consent} = 1

92. 5% 078 3° Hevon 35T ANHEBH ISEEI™ 5T 557 & a3735~?

93. 5% 257 %° 50T 5767 % o 637 35°?

(8™ °aDS/MET ) 075 ©0eo™ - 999 S5 A TAVOE?) <BI/><bI/> (D0 S5 5 THTIE S E S EES 05 @0 99

S0 S an T avos?)

Question relevant when: ${rationcard_hh} = 1

94. 308530 $20¢5° DEZ S 5T E757 e 07 ° 57 397 $TasT AvwE’SE™?

Question relevant when: ${rc_numj} > 1 and ${rc_num} <99

95. 0 5305F 557 5 070 5%6° 5755 39700 0ah® &3TIE™ e 50T 55T 6 K8%0%° 3T A SeasT $°55~es

(Sl NSRS

Question relevant when: ${rc_listed} = 1

96. 0 50T 557 5 H8°05° 376K IETHS 0SKS &3T 88T & 50T 5787 6 K5%03° AT A SesT 52550

OERIOTI

Question relevant when: ${rc_listed} = 0

97. &5 57837 5= 0 D 6%

$2565°7

Question relevant when: ${rationcard_hh} = 1

Specify other.

Question relevant when: selected(${rctype}, ‘other’)

98. 5625020055 Jod $00&° HFT AL FTET e S ETRST EET e wn’B~e™ 35706 SCave st E™E? (Jod o’
3565 03 B 5RST 56767 070 8578 $0asT avesT Ean™ es HopT sy S5 $TanT avos?)
(8™ °aDS/MET ) 075 ©0eo™ - 999 S5 5 TaDTAVOE?) <BI/><bI/> (D0 S5 I BT HE S S ES 05 @0 99

S0 S Tan avoss?)

Question relevant when: ${rationcard_hh} = 1

99. $¢50208™%S° 0SB0 HIT AN ST SowsT B TTAST 5T $r% BN oSG T mAn’?

a b~ W N

2-3 5 e
4-6 5 e
7-10 5 o>
11-15 5 zoe

15 5 %m0 557 5™ DETHS

-999 B~ A MST S0

99

€903

Sl

VTSN 3T $ESE
S°EES 0S8

-999 $Te’ahes>

1

99

99

99

A 0N

99

SMS goi% 0°3F o™ 353076
0™ 5™aAPe 8

SMS &= e 07 555078
07 & 5APe 8

SMS & QOKFGJ%lF o™®
BESKE) E™8° EApe ™8
SMS 5 $~eor o™ SESKes
§8° Ao ™8

SMS 3 ao)(?e%\F o™®
IESKOEY S& AW

ST 5~abres:

SMS & ™0 07 SSSKeS
8°ahs ST FAbKeSs

B S0 95T $5E™E°

S EES 0S8

[ENCAS]

Egge)

VR ESS0 g SE™E
S5ES 0S8

[ENINS)

57

DTS 33T S8
IETES 0S8

@o8” an™san

2°5°e°

N5°de"

3" 39575 &
BTN ST 5SS
S°EES 085

-999 $Te ahe

other Other
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rcwhynotseeded (required)

rcwhynotseeded_other

posable_resp

posable_resp_other

posable_num (required)

fpssystem (required)

fpssystem_other

fpspayment (required)

(S5 ™0 QOS/NOSTE> 07 ©060™ - 999 S5 ™5 570 TAVOE?) <bI/><DI/>(SH =G =S50 5 TSE =S SEES 05 @0ss™ 99
S0 5w avos?)

Question relevant when: ${rationcard_hh} = 1

Response constrained to: .<= ${rc_hhnum} or .=-999
100. 5° e355~5% Sows™ 05™ 5° 58T 5757 $I05% wBogTNo I Save8?

Question relevant when: ${rc_adhhnum} = 0

Specify other.
Question relevant when: selected(${rcwhynotseeded}, ‘other’)
111, 55557 50868 9° 570%087 S0> PoS anos™ So 37 557 3707 820657

Question relevant when: ${rc_adhhnumj} > 0

Specify other.

Question relevant when: selected(${posable_resp}, ‘other’)
112, 573057 3 T08E~5"S Jo850e° K600 BT abie eE~5T o°08T &7 JoiT o 5=5°sT POS o7nlsT o™ 5¢°
50067 8 1 53590 5B o™ &8 $man*?
(S5 ™0 QOS/MOSTE> 07 ©060™ - 999 S5 ™5 570 TAVOE?) <bI/><DI/>(SH =G S50 5 THE =S SEES 05 @08 99
S0 ST avoss?)

Question relevant when: ${rc_adhhnum} > 0

Response constrained to: .<= ${rc_hhnum} or .=-999
113, 57857 85855500 88T 397 $5E™8"8° 1§~ PDS &880 Jooes® 5T absnT 8 &nan ™ KT $:06°?

Question relevant when: ${rationcard_hh} = 1

Specify other.
Question relevant when: selected(${fossystemj, ‘other’)
114, 37557 8265500 5% 52337 8500805735790 375 Ga 20 D $°G500K~ S0 0% =57

Question relevant when: ${rationcard_hh} = 1

99

-999

other

99

-999

other

99

-999

other

99

-999

3785 STAHT e’ e’
578 S0’

35 EanaT SPos— ¥5°
S°mAbIoB0o Ee N
PRS00 3T SN
S°E=ES 088

BB

Other

€933

¥

BTN ST 5SS
S°ETES 088

S AbS

Other

KT aboos® 8% et
DT S58° et 5=
52030858 8 eses~ET
%087 S A’

¥ e 573 POS
b0 Sos™® somsT 5™
5050065 8 S0 28°T
¥ 870 355" 0%0%T
SEaHa’S JosT e 5%
POS apos sos™

SosT 8

5K amoest 8% eos®
$08°a0s 5 %5088 &
557 ©%08T S abae’S
¥ e 573 POS
AbosT Soss™®

5K amoest 8% eost
87 ahy 7006 E &
28%7 975" 87 e
%087 S A’
dos" " 555" POS
AHosT Sods™ e 55
DTN T $ESE
S°EES 058

ERCyee

Other

K $T0T 0% B

5™ TS $008° STEK™
G 2oy KT S man’
80 (SKES> 8°awy &=
PS™ 33087 $EEK

ST wy KT RS ™A’
VTS0 3T $ESE
SE=ES 088

BB
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other Other

fpspayment_other Specify other.
Question relevant when: selected(${fospayment}, ‘other’)
renumotvisits (required) 115, 5°8> K&3°5™ 3 3 000™ $°6 357 3°%0~6% 03 575037 850556~ 5785 05?
(5™ °aDS/MET ) 075 ©0e0™ - 999 5557 A TAVOE?) <BI/><bI/>(D:0 =S5 5B THE =S ST ES 0= @0t 99
S5 S7apTavos?)
Question relevant when: ${rationcard_hh} = 1

fpsproblems (required) 116. Ke*5°S 3 $5™00™ 55 0% 5° Heas0m 9457 aibe Se 58T Ao DHT 3™ 8057 5=6:? (037 1 &5 855537 5~57 %
PITEE500 SE°S° 0508 376 S es5mET s
95535 DD S IO I 5% oS0’ 9300 ™SI E0 S e93°

Question relevant when: ${rcnumofvisits} >0 and ${rcnumofvisits} <99 $ST s

2 2 aposT S ST
30030 STAHT eSS/
57075, 53T ae™®
2% ap—o% o av~osT
PB™ 3255 75T S0

3 50%5006% oy enan K os™
08T aboes ISE
@000 08>

4 goesT ST /057885
DS Fanso o

5 50500678 5T 5 me 550
SZPe abo

6 5% 3T 550
SZ9e abo

7 505008 55
557 $°05%0e° 5~5° PoS
STROST 55° SCane e

8 05T 06T $Pos’0s 550
PoS 57505 95°
SEape s

9 56T oms" o

10 cos® So $3° S ave e/
D% anSes®

11 5508 58T 5%0~5T oo/
R0BSEE B T0Se S

12 5755 $70% 0o me" 8%
oo™ e Soed™ JETHS
So% e 5™ 2 ab~o% pmE™
$206° %% Saneesrods’.

13 5755 $70% 005 me 8%
o™ 2 Soed™ JETHS
So 2 570 oo 0°
&082085°.

14 5 05758 Soes™ 85793
5588 @00’
9038357 $¢5°

15 52887 3 T08E™SE Smo™
VHAHo H&EISr0¢5°

16 508 S ToSE™SS a5’
Boes™ IET KN 35T s
55T 8500° 585 8s065°

17 doosd® Hont abes
52838 ™5y

99 DRTETN gt 9ETNE

SPE™EE 0S8
-999 & e ahen
fpsproblemsother 116 a. 373 S~ DIT 5™ 388 20T Ao $° Seanon BT anIes ISV IBHHITS™E™? 1 @8
Question relevant when: ${rcnumofvisits} >0 and ${rcnumofvisits} <99 0 5>

99 HHTETIM 7T 9GNS’

$°5ES° 0S8
fpsproblems_other (required) 116 b. 388, SAHS™R° $5°58 0508
Question relevant when: ${fosproblemsother} = 1
fpsbenefits (required) 117, 58 3 5”007 0™ 5° Heoson $&57 abies IIBZI™ S+ 55 S0 S0 37 500 usom8 DB 8™ 3 TS ™? (657 s’ 1 7576087 § 578
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fpsbenefitsother

fpsbenefits_other (required)

rationlast3months (required)

rationlast3months_other

rationtime (required)

ration_unable (required)

ration_unable_times (required)

ration_unable_why (required)

DI E IS0 35°3° 3°3°5°0505°)
TS DD IO ST %% 0S0s®
Question relevant when: ${rcnumofvisits} >0 and ${rcnumofvisits} <99

117, &, 578 $~oas” DITI™ 3388 37 S s o8 ° Lewon 557 aies ISEZS™ 5 oS ™?

Question relevant when: ${rcnumofvisits} >0 and ${rcnumofvisits} <99

117. b.3&8, HANS™R° $°S58 0S50

Question relevant when: ${fpsbenefitsother} = 1
118. K& 3 3”00 0™, HKens, $°5 (97°657) 5° 520000755 2578 H55F ams® 30’508 5 ¥F 5D e 550
$°BabS080 E5E0 ¥ 00 8T8 96T 0 850585 856?

Question relevant when: ${rcnumofvisits} >0 and ( ${fossystem} >1 and ${fossystem} <6)

Specify other.

Question relevant when: selected(${rationlast3months}, ‘other’)
119, K8 35057 3”00 0™ %6 52887 ¥ T05E0 §TH00 B%0EN™ o VAN BT €°5E°?(goks’ $108° BALOISSES
¥AH0 $308° SN 33T S DHALO FLrE 1)

Question relevant when: ${rcnumofvisits} >0 and ${rcnumofvisits} <99

120. 78 3 $”00™ 5° $630200™ DSBZ 5™ TGS 58T 3 ToBE ™SS BT EansT So IS8T, 370 ¥ v8%es
05 ES™?

Question relevant when: ${rcnumofvisits} >0 and ${rcnumofvisits} <99

121. 0™ ASTS° 575 o 28°K°0e5°?
(S5 ™0 QOS/OST > 07 ©060™ - 999 S5 ™5 570 TAV0E?) <bI/><BI/>(SH =G S0 5T TSE S SEES 05 @08 99
SHTD 57w avos?)
Question relevant when: ${ration_unable} =1
122, 575° 573378 dotaH $ oS S an=8?

Question relevant when: ${ration_unable_times} >0 and ${ration_unable_times} <99

99

358> %8 0™

57 5PRST 5 T0sE ™SS
S5 3 DJoaAvo DeES06°
5535F S50o8 S 9s—ss
3573 975 0 37T S50’
595 Br065°

5™ 8RS 5% BT 8%
BT0888T 5

378 S0 o’os~eT %S
55060 DET S G e
705 005" B eSvso
0%

555500 39T 9908~ [ 9T 58°
B8 5EAST S0
do~owd’ BT S TS o>
0%

DTN 8T S5ESE
S°ETES 088

-999 & ahen

1
0
99

a A W N

99

[INBA)

e

BTG S 95T SE™SE°
SETES 0S8

2,5578°

50005 e

30754 55

5 7% 5703 95 e
DT BacEr 9575 Fave s
BTN ST S5ETSE
S°ETES 088

4999 $=°CHESHST S0
other Other

15 $°50°50 Soss™ $5T %5
16-30 3°°8 e

31-45 3°5°50

45 3°5°3~03-1 Kosd

2-3 Koo

3 Koo Soes™ JETEY
VTSN 3T $ESE
SEES 0N

-999 BT AHeE/ ST S0

99

€930

¥

DTN 3T ST
S°ETES 088

-999 & ahen

P05 81 57037 55 %
355 D3%° e s
D0 S ETO S eF°
STRTE8

2% aH™oET S ™% et
300 STAHT Ao/
505, 57387 sme™®

25 ab~o% o ap~osT
P 579500 957 907
300657 S Edan oS
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ration_unable_whyother

lessthanthree (required)

lessthanthree_other (required)

systemcompare (required)

122.a. 388, SABSR° $°58°0S05™
Question relevant when: selected( ${ration_unable_why} ,98)
123, 5% 5205 o 8505 50 5700 % D0850% e 35T 00 537 5™ 85708 578 0 5787 $5~?

Question relevant when: ${rcnumofvisits} < 3 and ${ration_unable} = 0

124, 388, SAHS R’ $°S58 08508

Question relevant when: selected( ${lessthanthree} ,98)

125, 35%55 55857 8285500 e5g~87 80 D TomBT S EERST 5T AnSRT B/NET S $08°aks 576> g0 B0 T

O TH05™ $7T0E%S EEAST 3T AN /5T %8 065700 5° T e ™ S
E3T 8 575087 5T o050T 6/55T 65°8° K585r0:5° 3° ee’sT 5ahm D5%s°?

Question relevant when: ${fpssystem} >1 and ${fpssystem} <6

98

99

DT Abred 5B
@000 078>
008§ 1085 5655
DS FAnEo oS
$50%50087 8 57 5 550
S e abo

2805 37 550 550

32 9e abo

3050065 55

%57 $%05%0s° 5~5° PoS
STRST B° STane s
28°%F K057 $°05°0s° 5
PoS 57308 95°
SEape

388, SABSR°
SRTETS0°

DTN 3T 5SS
S°ETES 088

-999 & ahen

98

99

378 &5 ST 8RS

B T05E™S 5785 omeN®
@955 P05

378 28T, a8’ Soes™
IETEHS S0 5ERSTSH
Rt Re

P05 81 57037 555
5% es~5" B°eor® o
&0 3T 58

Lot e 50T 555 &
3% es56T W0eon®
IS 95T 3076
3T S

2% av™osT PS8 e s
93500580 S 0nT abe S/
8056, 5T S
2% av~o% » av~osT
PB™ $°55™0 35T 90
508085 §7e0T /987 555
$3°SSanEo 0%
5050055 8 ¥T 5w 550
S Pe obo

28°%F 55 55~ 550

SZ e abo

5050065 55

K57 $°05%0e° 5~5° PoS
STROST 55° S aeEs
28°55 K57 Fo’or’ 5
PoS 5755 38°
SEape s

3B, SOHI T’
SPTETS0°

PRS00 3T SN
S EES 088

-999 $Te’ahes>

Keas oK™ 300K &ods®
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3008°98°/ 3085 08> © K
&3 8e°

I8 320 9T W

&30 N oSS Enest 8o°
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systembetterhow (required)

systembetterhow_other (required)

systemworsehow (required)

125 a. Jo5Es® &2 §8% & 5T abSnT /55T 88 0r0s?

Question relevant when: ${systemcompare} < 3

125 a. 388, HanS~R° $°S8 oS0
Question relevant when: selected( ${systembetterhow} ,98)
125 b. Jo5sss® &a §6T & 57 0050 ¢/55T 88 oK~ %?

Question relevant when: ${systemcompare} > 4

99

98
99

SRRt

055 58" Soi™ &oes®

S e 58T Sok™ &ods®
DG S 95T SE™SE°

S EES 0S8

a. §7 96T 5 8RS
3880 ¥ oEs%Hs™
550 0% (Bo¥~e
5528 27 S8 e 50)
b. 557500 %750 B0 o
EPAST D088 58
(308% 503085 D oS0 e)

C. 30750 95 88°%08°

Do T B o 578
370887 5 (08%s
20683 BS°KT K

D oS0 S P an ) (285755
2° wan’s™ 55T
Do )

d. 507500 5o BroT & E o
D087 S (2857 2°
wan’s™ &%y
Do ¢)

€. 57087 5 T0es ™SS
3”00 857 %5 35 e
ST 8500 515 8r05°

f. 30 87RST 0% ™Ss°
PDS 5757 5655 ¢ 857 5%
DDA IS SosSOR’

S0 &0065°

g. 5500 B85535 908 S
DT PO
D58E060985T Fud

(ODosT 53, $5°6T apoes®,
058" §7L%, 50%05 8
3290 abo HTEe2IS%)

h. 30750 85755 905 8
AHZBE BT AP
DE5BIE0e085T §ud

i 070 $°6T 50 BE2S
SorT e S50 0705 ¢ S
(0765 55 53T S8 857 55
S22 S0 0% Sa57 5m)
j. g8

K. 03078500 79T 988
S EES 0S8

a. 57 9TES ™ 37 5T
8505 ¥ o5 s%%0s™
9550 0% (™ %0 vosd
D0%° 5™ 5T B 00 500)
b. 555 85T $"0s%o
Rt

C. ST 05T 00 T
5PRST D osE0 0
(2,558 2° won’s™ °57%°
Do )

d. 50750 5o B8 &% 5o
508078 58T S5
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3”00 5T %5 55T e

S8 8 30%° 39F @r08°
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systemworsehow_other (required)

save_reminder_3

Group relevant when: ${consent} = 1

nrega (required)

jobcard_num (required)

names_num (required)

nrega_try (required)

nrega_try_consent (required)

nrega_notry_consent (required)

nrega_ad (required)

work_interest (required)

nrega_work (required)

125 b. 388, Sabs™0° $°58°0S0™
Question relevant when: selected( ${systemworsehow} ,98)

SApS0% 5% 2™ 1T EF So% 5755 0™ S0 $0 5 5T SFaves’.
Question relevant when: ${consent} = 1

Ko: NREGA

126. 3° Hre00020 ST 357 32 w55 & 50K &3T SE5—?

127. 355° %r600020 ST S ST es5T g2’ et 555 6o 50K &3T88%?
(570 Q0SS ) 0765 ©0e0™ - 999 55765 5 7abTAVOE?) <BI/><bI/>(3:0 =S5 <5 T8 TBE =S S EES 03 @0t 99
a7 STap T avos?)

Question relevant when: ${nrega} = 1
128. 5787 50 o0& $0¢5° 502 BT A5 76T 05 NREGA =57 5 57 85:57°5 S cbanes™ &—5:? (™87 &o)
(570 °a0e//H5 5 0765 ©0e0™ - 999 5575 5 aDT AVOE?) <BI/><bI/>(3:50¢ =S5 3 T8 BE=SE S EES 05~ @0t 99
S0 ST avos?)

Question relevant when: ${nrega} = 1
129. S+ 9357 avo™ o™ D355~ March - June-170"* NREGA 55° 57056 ™S8 57 50087 S 05572

Question relevant when: ${nrega} = 1
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©755™ 578 BEBS 20°6 PSSR0 TR B8 E?

Question relevant when: ${nrega_try} =1

131, 5% Sre0002 ¥FT b ASEZ S e T 55T 0™ 35700 ead® &7 575%™ w85°8 ™ 5%
30me0T ©E ST S 058 578 $8108 3% DI BT BB ™E?
Question relevant when: ${nrega_try} =0 or ${nrega_try} =-999

132, 5% e35—8% 5755 G057 9° 35755 5.2%.0. a~n 557 & esvoss osn’SE™?

Question relevant when: ${nrega_try_consent} = 1 or ${nrega_notry_consent} = 1

133, 3055 °-2sT 17 50657 A, $9°6> NREGA 5:3° 305558 5T 8°5° 507 &5% 552

Question relevant when: ${nrega_try_consent} = 1 or ${nrega_notry_consent} = 1

134, 5585 $%-e35T 17 2065 A, 355 25T e85 2% 55° 550 55500 .87 5575553 35° 3552

Question relevant when: ${work_interest} = 1
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work_opp (required)

whynowork (required)

whynowork_other (required)

whynowork_adhseed (required)

nrega_dbt (required)

nrega_dbt_seeded (required)

nrega_ease (required)

nrega_wage_fail (required)

nrega_delay (required)

nrega_delay_other

nrega_micro (required)

135, 30785 53T 17 3055 o, $°5 e5:d5T &° 53n8° I3 9365 275 5T 5% g2°) 35° 3 oSKe S ™E™?

Question relevant when: ${work_interest} = 1

136. 3% 55° %50 37 5aAST 5 0% Doan~eT 0™ 558 JodH B3° I ToSe T8N AL E?

Question relevant when: ${work_opp} = 0

B8, BABSTR® ST 00K
Question relevant when: selected( ${whynowork} ,98)
137. 555> e565™5% 950505758 5930655 NREGA 55° 308 5~5~?

Question relevant when: ${whynowork} =2

138. 3% 3 es5 2" 358505 3T 58T A Bor~ 2° T Ao P=E~e™ ¥ oSS I=E™?

Question relevant when: ${nrega_work} = 1

139, &5 7 A0 PS5 5’ eE—5T JondT BNV oSDE IS~ ?

Question relevant when: ${nrega_dbt} =1 and ${bank_aadhaar_muitiple} >0

140. 8% 0 $°6, $°6> ¥ 08™ ¥E5e &a” moNlo~geD 2° o Ao pE~e ™ SN~ S TG0 Jod 8300
0™ 53T 20K &3 57 (957 S° DTG TS0 FE° %88 0505°)
557 DD D00 ST 5% oS0’

Question relevant when: ${nrega_dbt} =1

141, %5 $0°8 35005 o7 208/ B30 B TosE S %5 I5THE 5™ SPesant arE=?

Question relevant when: ${nrega_work} = 1

142, 567 5T-25T 17 267 ab §7000™, DIZ5™ 5788 ST 0°050 15 5 me 557 5™ 57 %05 eet avo
o™ abTan™?

Question relevant when: ${nrega_work} = 1

Specify other.

Question relevant when: selected(${nrega_delay}, 'other’)
143, 55~5 35%-e25T 17 267 an, 55° NREGA 558508 07 3 58°056 ™58 5% 2.8 %o’ anos® o (@oes™
$2ETE™ De%d0) 07 50 50’0657 5% eBan T oS~ ™?
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nrega_micro_other

nrega_problems

nrega_problemsother

nrega_problems_other

nrega_benefits

Question relevant when: ${nrega_work} = 1

Specify other.

Question relevant when: selected(${nrega_microj, ‘other’)

144. a. 5°5 NREGA 55500™ 55 55505 8¢ 565 89 878706 $70%0°5 D375 53557 0o dE8:887 552

(€955 &7 DD NR0003 $85°%%° 57570 0506°)
@IS BB P IS I%S° IW S oS0’
Question relevant when: ${nrega_work} = 1

144 b. 305% 5208 57537 3% ST BHRT APEs E™HoE™ FoE™ DB I BHBT Ao 7 IEHBHST 5=E™?
(€955 57 DD TSR0 $6°%%° 57575 050e°)

Question relevant when: ${nrega_work} = 1

144 c. 385, SAHS T $°S5S0S0E™:
Question relevant when: ${nrega_problemsother} = 1
145 2. 5° Hex02 1857 abres 5SS~ NREGA 53500 53° S50 05T 00 8¢ 57 8%06 $70%0°S 37 508 a0
DB2I™ B ToS™E™? (957 37 DI IS0 $65°8° 3°F° B 080’
555 DD TS I I ST oS0’
Question relevant when: ${nrega_work} = 1
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nrega_benefitsother

nrega_benefits_other

nrega_microsamedayprob (required)

nrega_microparesponse (required)

nrega_microparesponse_other

save_reminder_4

Group relevant when: ${consent} = 1

microgeneral_nrega (required)

microgeneral (required)

microproblems (required)

145, b. 308% 5065 3753 S0 S35 DI 388 178 wIo8 5° Hea0n ¥&T abes IIETI S TS ™E™?

Question relevant when: ${nrega_work} = 1

145. €.385, SaHs %’ $°S58°0S0s™:
Question relevant when: ${nrega_benefitsother} = 1
146. %5 2725 572650 $3065° 5° GuT wroM/S TS ST S 30508 TP EsT ST ™? (SrES: "ET 93 3T Sans” s~
BEIS™S, ST S D ToSOTED BT SE ™" e95° @Ko 8T 378 ¥TE T S anT anos®?)
BT WIETHS 5TEADSTI T SIS, ST 5 o0 ES TS TE ™" e esniso $TSmE™ 375 T 3 apTavos*?
Question relevant when: ${nrega_micro} =1

147, 55° SKSIS TS5 ~08> 300 85 a0’ vavos™ 578 N5 $H8?

Question relevant when: ${nrega_microsamedayprob} =1

Specify other.
Question relevant when: selected(${nrega_microparesponsej, 'other’)
SApS0% 3% 2S5 5F So% 5755 0™ S0 F0 5 5T STaves’.

Question relevant when: ${consent} = 1

148. 5° NREGA &a™ 2:05/3 8508 57575505675 0.8 &’ o™ apos™ 8o (938~ 57875 ATM) o o°
S P0%5067 53> &3 TR oSG0S e, K 3 STeoT 0™, 388 e38s™e §No/E 500 § 0 ° o av—osT prsmE ™
=55 55" S Sabeo™SE %5 $%S° &R Ko™ (&5 )?

Question relevant when: ${nrega_micro} =1

149. 58 3 5”00 0™, %5 2° o ar~osT PE~S™ o=IE S TS~ o8 & a’tre” avosT Soo ™ (w0t &8
BETE L% 057) 7 55050087 85 enan TR oSS ™ (&5 GaT wosr STRAnT abE S S 2% 3 S aneo)?

Question relevant when: ${nrega_micro} = 1 and ${bank} = 1

150. ° &7 ap~0% P58 oSS 5 00 BEE=SE HI2E T ATM 8> &30 K0S 0T 53¢ $°6 & 55 %0
P30T AeT 0™ DIZ S 8T ETSTSTET? (957 S DI TS0 $65°5° $%5°5°0506°%)
ST DD TII00 IG5 050’

Question relevant when: ${microgeneral_nrega} =1 or ${microgeneral} =1
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microproblems_other (required)

microproblemresponse (required)

microproblemresponse_other

microease (required)

microeasewhy (required)

microeasewhy_other (required)

microdiffwhy (required)

388, SAHI TR $°98°0S0E™

Question relevant when: selected( ${microproblems} ,98)
151, 32557 Dea’do E5an 0SS5/ A R oS35 T Bk %6 D5° T 8~%?

Question relevant when: ${microproblems} >0

Specify other.

Question relevant when: selected(${microproblemresponse}, ‘other’)

152, 52575 ATM: °5°3757 5 506°08 208880 $0°08™ 0% $06°08% 537 3880 55082 (037 5% BB ESmoes

38°8° $°5°8 050&7)

@37 BB S en 3B W oo’
Question relevant when: ${microgeneral_nrega} =1 or ${microgeneral} =1

153. do™ HroFsso $5°08?

Question relevant when: ${microease} <3

388, SAHI TR $°98°0S0E

Question relevant when: selected( ${microeasewhy} ,98)
154. Jo™ 57 535 535 eos8o $%°05°?

Question relevant when: ${microease} >3 and ${microease} <99
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microdiffwhy_other (required)

save_reminder_5

user_attitudesm

Group relevant when: ${consent} = 1

govshare (required)

privshare (required)

govbioshare (required)

privbioshare (required)

govadshare (required)

privadshare (required)

B8, BABS TR’ S 0S0E™
Question relevant when: selected( ${microdiffwhy} ,98)
BB 785 K™ 5T 55T 305 5757 0 500065 P80 3 ¥ S avods®.
Question relevant when: ${consent} = 1
57508 373 1758 S0, SanSS’ 81 5 570 @057 5% Jod 5097 ch IS’ 05 $p° A3’ §=E ™
BrStosods’.

Question relevant when: ${consent} = 1

155. 5°5> 55 580873 D=7 078 57 3T ansT %08 D30 ~sT & (S5, 2 978, SR, $°58H)
B30%ST 9T B, 375 ST Jo= EBALT KT $=E T $ermE %0 575 JosI5H 20p° ano? (937 S
DRGSO IS 0S50S’

57y’ DD G I 355 35 0s0es®

156. %55 576255007 500575 5° 57 ansT %K SHmaESTS? (G0, ° 576, SARTR, $°s5™5)
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B a5 950 55 JoBSEE SopT avo? (€955 5° D800 $8°%° 7575 050e”)
5Ty’ DD G I 3% 3500

Question relevant when: ${aadhaar_fm1} = 1

160. 3% 2.5 5003°8™ 5 e85 SosT 85 HoSBITIST B, 76 ST Jo~ EIAL KT S S 5%
375 DoBSEE 59T AH0? (937 BTG NINO FE°S° 3D 080E?)
9557 DD I ST 5% oS0’

Question relevant when: ${aadhaar_fm1} = 1
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govcompulsion (required)

privcompulsion (required)

lockaware (required)

lock (required)

callback (required)

image

store_gps

thankyou

161. A7 .e387.5.88°.., 9°.8%. 007, D™5TAST 0, 5067 AT S §BS0 5080”05 3T 88T S o™ es 0SS’
35505 8380 3587 B0 G050 $%T RS, 5T 88T S 5T SoD e mo8 oSS e ST 85T RS0’
SPan~esT S 3T 587 $°5T ean=sT 3 2°5 65 SR EE™ 0~ 2587 5575 8™5? (057 3 DTG TII0e $5°3°
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55T R507%)

164. 355° 20 50 eT 85T 5SS ST S 08T S5 ?

Question relevant when: ${aadhaar_fm1} = 1 and ${lockaware} =1

165. ™5 305™ DIZ 3™ 37557 Se d0es™, $B5™S 270707 S 50057 5605 088 H76 BHTHET™?

Question relevant when: ${mobile_hh} > 0 and ${consent} = 1

BT 5080t 35 578 3760 SRS IS 578 G TTET S 55T 58 o Esmas 8508 o’
Question relevant when: ${consent} = 1

GPS 3357 sao ¥ 507 3 ¥ 0S50

GPS coordinates can only be collected when outside.
Question relevant when: ${consent} = 1

3° B30aH0 o an oS S08% 0™ ST AbIE e

a b W N

P S°Son™
e33R0 88
ROl et
B0 o

B80T 850 88
P S°Son™
BT EERT S5

-999 & o’ane

99

a h W N

BTN ST HESE
S°ETES 088

Pt S°SoR™
ROl et
RO i et

Bean go

B80T 85°0T 88

Pt S°Son™

S50 85°%0 88

-999 & ahen

99

99

DTN 3T S5ESE
355 08
[ENDAN)
[Spleb]
BRESS geT SE—E
S5ES 0S8
[ENIN)
57
B E 33T SE™SE
SEES 0S8
[ENINY)
57
DTS 33T 5SS
S5ES 0S8

Page 30 of 30





